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HARYANA MOCK TEST - 97 (SOLUTION)

61. (B) golb e vukl dk Toff/d miknu girk gh mlh iFoh ,d xg gh 1jr] I; fcYdy vyx gA
idij YyifjVk e Irj ok loif/d mRiknu girk gh
62.(D) 2 : 9 :: 28 : 65 L. 71. (D) yX fot/h ~
| | | | ™ .+ CBire <100
13+1 23+1 33+1 43+1 I_Fkku ey/u = Ie; an
63. (C) v{ij E di wuiflFfr d dij.k "tn SOLACE 0402100
olLrfod "itn e 1 ugh cuk;k € 1dri - T - 28300
64.(C) gt ViNIr e dy 15 ox ¢ 72. (D) 10 I[;kvk vklr 7, IC
65. (A) Hi 10 I[;vi dk ;lx = 10 x 7 =70
12%(10) I[ Vi dk ;kx = 12(10)x 7 = 840
ik 840
10 1[;ivk (u;) ok Villr = —— = 84
4 Hikb g0 o 10
Li'v i 1] s di Hib] R dk Hi Hib gh 23 (B) cdl Ny = 2220x6x4 .
vri] Q, R dk plpk gh - B 100x12
66.B)M O U S E 74. (A) el fd dij Hjt r; dh xb njh = 3x fdlet
; dh xb dy njh
\*3 \*3 \ 2 |2 vilT xfr = =
0k xk dy le;
P R U Q C fylil X0 dy le;
mihidj] s H# 1 F T _ 3x _ 3x
x L X X 6x+3x+x
+3 [+ \ -2 \—2 10 20 60 60
VK 1 D R x
| ' = 3Xx00 g fdein
-2 -3 -4 10x
" % o l]E R lIl %: A 75. (B) 1 fdx dk @; eY; =100
67. (A) T T il 1l k] 800 xie dk fod; eY; = 100/-
+2 +3 +4 +5 (pfd] yiH = 10%)
+11 +11 +11  +11 1000 xte vFikr 1 fdxk dk fo@d; eY;
L W [ AL 1
68. () L3 32, 24, 43, 35,54, 46, 65,57, 76 _110x1000 _ 1100
L L ML il I 800 8
+11 +11 +11  +11
69.(B) 16+2 =14 = + = - ik 1100 _ 44
18 -3 =54 = — = x oy _ M _
14x2=16=x =+ Yt % =g ev; *100= g ¥ 100
96 +4=24=+==+
rcl) 18-5+3x2+24="> _300 L x 100 = 300 _ 371y,
fplgk dk cnyu d cin ge ilr g fd] 8 100 8 2
?=18x5+3+2-24 yk fof/}
18 5 5 o4 1 fdxk = 1000 xie
= X — + —
3
=32-24 /\
-3 10% YiHk 800 Xie
70. (C) 0 1100 Xie mlu cpk
300 xie
300 1
@ oY % = 300~ 100 = 375%
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76. (D)

77. B)A:B:C 30 iflykdk@;eY;=%x3o=?25
Ax2=Bx3 ..(i) )
B =4C ..(i1) 6 iflyk di fod; eY; =36
2A = 3B 6
3 30 iflyk di fod; eY; = = x30=336
A= —B
2 LYiH=% (36 -25) =% 11
c-2 HfElE = —= x 100 = 44%
4 y 25 °
3 B yk fof/4
A:B:C=—-B:B:—
2 4 el
3.1 [fjink D S.s 6.5
=5 1: 7 Cka?HI:@(, 5X61|D lelu
_3x2 4 1 11
T4 4 4 [ yitk % = x100
=6:4:1 25
= 44%
- B dk fgLlk = Ay 297000 =% 1,08,000 | 79. (A)n(M) =65, n(P) =48, n(M nP) =30
11 ~n(MuUP)=nM) +n(P)-nM N P)
yk fof/% =65+ 48 -30 =83
"ulullj] 2A =3B rfk - mud.k fo [KRGE dib ifrir = 83%
B =4C ~owvulkk fo JkFGE db ifriir = 17%
2A =3B =12C 80. (A) eluk fd igy fnu [; x; vxjk dh [k = x
A:B:C=6:4:1 LX+X+6+x+12+x+ 18 + x+24 =100
2,97,000 = 5x+ 60 = 100
B di fgLIk=#x4=?108000 = 5x =100 - 60 = 40
78. (D) eluk fd ,d 0;0r 30 ifly [kjinrk gh e 40 8
(bl idij 6 vij 5 dk yilfifi 30 gh) 5

6 iflyl di @; eY; =% 5

HARAYANA MOCK TEST - 97 (ANSWER KEY)

(©) 11. (C) =21. (A) 31. (C) 41. (A) 51. (A) 61. (B) 71. (D) 81. (B) 91. (B)
(A) 12. (D) 22. (D) 32. (A) 42. (D) 52. (B) 62. (D) 72. (D) 82. (C) 92. (D)
(A) 13. (D) 23. (C) 33. (C) 43. (C) 53. (D) 63. (C) 73. (B) 83. (C) 93. (C)
(D) 14. (B) 24. (A) 34. (C) 44. (D) 54. (A) 64. (C) 74. (A) 84. (C) 94. (B)
(B) 15. (C) 25. (A) 35. (D) 45. (B) 55. (C) 65. (A) 75. (B) 85. (B) 95. (D)
(D) 16. (A) 26. (B) 36. (A) 46. (D) 56. (C) 66. (B) 76. (D) 86. (D) 96. (A)
(A) 17. (B) 27. (B) 37. (D) 47. (D) 57. (D) 67. (A) 77. (B) 87. (A) 97. (A)
(D) 18. (C) 28. (B) 38. (D) 48. (A) 58. (A) 68. (C) 78. (D) 88. (C) 98. (C)
(D) 19. (D) 29. (B) 39. (C) 49. (C) 59. (A) 69. (B) 79. (A) 89. (C) 99. (D)
0. (C) 20. (A) 30. (B) 40. (B) 50. (C) 60. (A) 70. (C) 80. (A) 90. (D) 100.(C)
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Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the doubts.
Join the group and you may also share your suggestions and experience of Sunday Mock Test.

contact 9313111777

C Note:- If you face any problem regarding result or marks scored, please )

Ph: O95SS 10888, 09555208888



